
24 2 Importance Sampling

Your Turn
We want to use the following distribution for inference, where we know the shape, but not
the full distributional form.

What do we need for this to be a valid pdf?

← E- c- YI÷IlxtaitD.ru

We need site "¥÷dx= 1 .

⇒ sit 'Y÷dx=÷
① estimate C using MC integration with f- no Unit ( 1,1T)

,

m= 10000.

a) find f a-d g (write integral
as expectation of gcx), ✗~ f)

.

5-(x) = {¥ ✗ c- [ hit]

0 0. W '

← need to squeeze f- in here.

É¥÷dx=si¥÷÷÷dx=E[¥¥H
- if , x~uita.it . -

b) Make plan
!

1. Sample ✗ , ,
- > Xm from Unit (1,11-1.

2. É=mÉgCX;) . where glad = 1,0+1%-4- r ) .

c) do it !

↳ easy
to also estimate Var ( E ) .

② Can we do better? Importance sampling w/ § ~N(1,1) .

Make a plan -7 think about is this a good idea ?
- put H;;¥- , ""¥÷

1. Sample Y
, , - . ,Ym~N( 1,11.

Want most
"constant

"

2. 8- " =tmÉgC%)+¥, function .
i -- I \

§Y¥÷. • lit -D.÷,

•¥¥, da

si.¥÷



How to sample from § ?
for at[ 1,1T) .⑦ *"

Accept - reject !

have É

Need to choose else) envelope !
Recall elx) = d. ngfx) let g~~ Unit [1,1T] .

⇒ §G ¥, Xt 11,11-7 .
had ecx)=f

find d band on Max valve of Ttx) between [↳ IT]
.

1. find ecx) [ written as a function of Maxton]
.

2. get A- 1000 samples from §cx) using accept- reject .

need eGHZIG.cl tx

⇒
else) = max§Gd will work

,
ie

.
d. ¥, = maxf.TK)

D= (11--1) max fact .


